® 103169 August 14, 2007

Detex Corporation, 302 Detex Drive, New Braunfels, Texas 78130-3045
(830)629-2900 / 1-800-729-3839 / Fax (830)620-6711
E-MAIL: detex@detex.com INTERNET: www.detex.com
INSTALLATION INSTRUCTIONS FOR DETEX ADVANTEX®

01/04 DUMMY PUSHBAR ASSEMBLY

FMDVANTEX o01/04 Dummy Pushbar

Endcap
P/N: 101642-X

Endcap Bracket
P/N: 100147

Centercase/Pushpad SubAssembly

Plastic Template
Use for ease of installation

Fillerplate

SubAssembly
Mounting plate Centercase Cover
Subassembly P/N: 100196-X (Wide)
: I\/I\ounting plate S
Subassembly // Fillerplate Subassembly (LD)
(wide stile) .
P/N: 100174-1 \\
// \\_// P/N: 100408-X (01, 3-0)
/’ P/N: 100518-X (04, 3-0)

- P/N: 100417-X (01, 4-0)
P/N: 100554-X (04, 4-0)

- Owner's Copy |

103169 Page 1




Fastener Table
Tap Wrench

Comments

Use Either Machine Screws, Sheetmetal Screws,

Drill Bit
®
r I
ol < or Sex Nuts
Machine Screws
#1/4-20 x 1/4" PPH | Used to Fasten Centercase Unit onto Mounting plate
@ #1/4-20 x 1" PPH #7 or 13/64" #1/4-20 Tap Used on Strike, Mounting plate, and Endcap Mounting Holes
Self-drilling Screws
mmm&b #10x1" PFH NOTREQUIRED | - Used on 99 Strike Center Mounting Hole
ﬂm&mm% #14x 1" NOTREQUIRED | weem- Metal Applications
PPH Used on Strike, Mounting plate, and Endcap Mounting Holes
Sex Nut — 9/32" Interior Door Face | - Recommended on Fire Rated Wood and
#1/4-20 Unreinforced Hollow Metal Doors
--- 3/8" Exterior Door Face | - Used on Mounting plate and Endcap Mounting Holes
Note: Fastener selection will vary per catalog configuration and kits ordered.

Tools Required
Power Drill Pencil
Hack Saw
Safety Glasses Hammer
Tape Measure

Level

Center Punch

Screw Driver

103169 Page 2




Mark mounting plate holes

.
/ N\
, \
| \
W e [ T2 i
Slide 99 strike locator /,/ \\\ /
into mounting plate AN //
T
.- N
\\
o
Gy
N

/

Punch marked
holes

N Trim input hole Mounting plate holes (4)
(if necessary) For 1/4-20 machine screws drill #7 holes.

(see outside For #14 self-drilling screws no pilot holes
* trim instructions) necessary.
For sex nuts drill 3/8" holes.
(see fastener table)

.

RECOMMENDED
Mark centerline t
for unit ) e

40 inches above
finished floor

Fasten tightly with
lockwashers and
1/4-20x1" machine .
screws or #14
self-drilling screws

103169 Page 3



Insert centercase into slots
of centercase mounting plate,
rotate toward door.

Fasten rim device
to mounting plate

I with 1/4-20 x 1/4" PPH

machine screws

MUST BE INSTALLED!

103169 Page 4



Slide endcap bracket into
\ extrusion, level pushpad assembly, \
. and mark (2) holes N

\ AN

Note: Endcap bracket must bottom-out \\\

on extrusion before marking holes.

marked }

For 1/4-20 machine screws drill #7 holes.
For #14 self-drilling screws no pilot holes
necessary.

For sex bolts drill 3/8" holes.

IMPORTANT:
Install (2) 10-32 FH Screws
to attach Endcap

Slide and mount endcap
“~~_ to endcap bracket

103169 Page 5

machine screws. Tighten
with hand tools only.

\Y& Install cover with 6-32





